Table C: A Pearson Correlation Matrix for Relationships between Variables Contained by the Nature of Superannuation

Sbl Sb2  Sb3 Sb4 Sb5 Sb6  Sb7 Sb8  Sb9  Sbl10 Sbll Sbl2 Sbl3
Sb 1(Taxes to maintain the existing NZSB) 1.0 0.29** (0.32%* 0.21%* 0.12%* 0.15** 0.14** 0.28** 0.17** 0.17** 0.02  0.19%* (0.12**
Sb 2 (NZSB be a source of income) 1.0 0.34%* 0.21%* 0.09*%* 0.21** 0.13** 0.21** 0.12** 0.13** -0.015 0.13** (.15%*
Sb 3 (The Government provide NZSB) 1.0 0.24** 0.051 0.40** 0.054 0.31** 0.08* 0.10** -0.059 0.10%* 0.20**
Sb 4 (Expect to receive the NZSB) 1.0 0.35%*% 0.37** 0.16%* 0.33** (0.30** 0.25*%* 0.09* 0.2%* (27**
Sb 5 (Keep the NZSB residency criteria the same or change it) 1.0 0.24** (0.24** 0.30%* 0.23%* (0.22** (0.16*%* 0.12%* (0.15%*
Sb 6 (NZSB an earned right) 1.0 0.21%* 0.31%* 0.17*%* 0.20** 0.04  0.12%* (0.34**
Sb 7 (Full-time employment and receive the NZSB) 1.0 0.23** (0.18** 0.58** 0.08* 0.05 0.31**
Sb 8 (All be hurt if the NZSB was cut) 1.0 0.25** 0.21** 0.07* 0.07* 0.26**
Sb 9 (Concerned about the costs of keeping NZSB) 1.0 0.23** 0.15** 0.17** 0.05
Sb 10 (NZSB be received by those people with an income greater than the average NZ wage of $30,000) 1.0 0.06  0.11*%* 0.29%*
Sb 11 (All people 65 plus should pay a larger share of their health care costs) 1.0 0.04  0.01
Sb 12 (Are there age-groups that will receive more than their fair share of govt benefits compared to the amount they have paid in taxes) 1.0 0.01

Sb 13 (Should all adults receive the NZSB when they turn 64)

If P < 0.01 then the symbol ** is used. If 0.01< P < 0.05 then the symbol * is used.
Determinant = 0.110
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